Ay 2 12 1 =6
so far we've been coucevned wWith Hwe ovbital Goure (which does not
change in timg.  Wwhere does fle  pody Spend by fime om te figuee 2

define the Hean Anomaly: M= ?E;‘_"(t-‘c)

\

tme of
penapse Fas';age

The Mean avomaly is like a clock hand. [t
increases With steady livedrr dccvmviahon. Unless
tie orbit is civeular; T+ has o shaightfoyward
zjeomd'ﬂ‘c intorprefation,

Circumsovibed Cirele

E= pecentvic 4”0“‘\0\[)'

Can devive:

velates Cclock/ hand"
v the fosiﬁﬂm m e
6vhit
M= F-esmE is Keplers e(:[vah'w},
As Fav ps |'m concormed, iF is best

4olved nmevically!



